Algebra [
4) {-7} 32) 42 pe. 137

57) a: %x: 200

6) 16} 34) 83 b: Plants

8) {-8} 36) -6 59afl | b b:

10) {12} 38) -11.5 s

12) {13} 40) 42 1]65 b

14) {-2} 42) -35 2| 13 b

15) C 44) 35 2

16; A 46) 1/6 31193 K

18) {-13} 48) -2 4| 26 M

20) {-12} 50) 9 cm 5 525 3 :
22) {-11} 55) 11 fi. ¢ 26=6.5¢; 4 sec
24) {28} 56) 245 Ibs.

26) 149; 60) a: 18ft?

28) {-42} b: 6 ft

29) subtract 3.8 on the right side. 65) A

30) multiply the 27 by 3. 66) D

9=-13
Z-53
2 31

~-82=d
¥923

32) -32+2= 2y
“2243.2 $2= 24432
és-42
29 -&l=pr22
~6l22 = pe22-22
-8.3=p

"f"D (—2! s --g-t)é-s)
105= 3¢

$25%

s =
25 <t 4 (%@
3} .EL_'_,_

%= &
L2

4 (B 7 I

24x =
e

x=
§¢3

5b> A =72¢cv®

*
16

A=LLh

72 '-‘-(l‘ >x

R o=
1?3




“®) (%= %353 39)(4%-%5 “4b 57)(-"71x=z
—q~2e n =S 4x = 1420
3 o
'_52 - : 2uss %= 350 = Birds
5 [eco )
2% ig > Plavts
'%2-!'6 56) Let ¥ = weight oF person
19 X4+ 55 =300
44+65-55 & 2DD-55

€5) 4 (2x+) mD

Bx+ 16 —bx ~&
e >k,
53) b~ -
Ve | d o
{ .5 2e
2|3 1 1S

) 1 [ HEs

1234S




